DI-242
DIAGNOSTICS[] - SUPPLEMENTAL[RESTRAINT[BYSTEM

DI18Q-12

CIRCUIT[INSPECTION

DTC[] B0100/13[] Short[in[P[Hquib[Circuit

CIRCUIT[PESCRIPTION

The[D[$quib[¢ircuit[¢onsists[df[ihe[airbag[$ensor@ssembly,[$piral[¢able[and[$teering[Wheel[pad.
It[¢auses[iheairbag[io[deploy[When[ihe[airbag[dleployment[¢onditions[are[$atisfied.
For[details[ofihe[function[df[@ach[¢omponent,[$ee[DPERATION[®On[page[RS-3.

DTC B0100/13 is recorded when a short is detected in the D squib circuit.

DTC No. DTC Detecting Condition Trouble Area

« Short circuit between D+ wire harness and D- wire har-
ness of squib

B0100/13 ¢ D squib malfunction

* Spiral cable malfunction

« Steering wheel pad (D squib)
* Spiral cable

* Airbag sensor assembly
*Wire harness

¢ Airbag sensor assembly malfunction
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INSPECTION[PROCEDURE

1]

Prepare[for[inspection.[(See[$tep 1[on[page[PI-368)

-

2[]

Check[D[$quib[¢ircuit.
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PREPARATION:
Release[the[lirbag[activation[prevention[nechanismpof the
connector[Jon[the[&irbag[$ensor[assembly[side) between[ihe
airbag[$ensorfassembly[@nd[ihe[$piral[¢able.
(See[page[PI1-229)
CHECK:
For the connector (on the spiral cable side) between the spiral
cable and the steering wheel pad, measure the resistance be-
tween D+ and D-.
OK:

Resistance: 1 MQ or Higher

NG> Go to step 5.
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30 | Checklairbag[$ensor[assembly.
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PREPARATION:

(@ Connectihe[¢onnectorIo[ihe[dirbag[$ensorfassembly.

(b)O Connect[hegative[]-)erminaltable[io[the[battery,[and
wait[at[least[for[2[$econds.

CHECK:

(@O Turn[gnition$witch[Ho[ACC[dr[ON[@nd[Wait[at[Tleastfor[20

seconds.

Clear[DTC[$tored[in[nemory.[{See[page[DI-229)

Turn[ignition[$witch[fo[lLOCK,[and[Wait[at[Teastfor[20[$e-

conds.

Turn[ignition[gwitchHo[ACC[r[ON,@ndWwait[ateastfor[20

seconds.

Check[DTC.[({See[page[DI-229)

(b)[

DTC B0100/13 is not output.
HINT:
Codes other than code B0100/13 may be output at this time, but
they are not relevant to this check.

e )

Replace airbag sensor assembly.
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4[] | Check[P[$quib.

—_—
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@

PREPARATION:

(@0
(b)[

©u
(d)0

Turn[ignition[$witch[fo[1. OCK.
Disconnect[ihegative[{-)[erminal[€able[fromIhe[battery,
and[ait[@t[least[{or[P0[$econds.
Connect[ihe$teering[Wheel[pad[¢onnector.
Connect[hegative[]-)[3erminal[table[io[the[battery,[and
wait[at[least[for[2[$econds.

CHECK:

(@0

HINT:

Turn[ignition[$witch[fo[lLOCK,[and[Wait[at[Teastfor[20[$e-
conds.
Turn[ignition[gwitchHo[ACC[r[ON,@nd[Wwait[at[eastfor[20
seconds.
Clear[DTC[$tored[in[nemory.[{See[page[DI-229)

Turn ignition switch to LOCK, and wait at least for 20 se-
conds.

Turn ignition switch to ACC or ON, and wait at least for 20
seconds.

Check[DTC.[[{See[page[DI-229)

DTC B0100/13 is not output.

Codes other than code B0100/13 may be output at this time, but
they are not relevant to this check.

NG> Replace steering wheel pad.

From the results of the above inspection, the malfunctioning part can now be considered normal.
To make sure of this, use the simulation method to check.

CENTURY[] (RM676E)
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5[] | Check[$piral[¢able.

PREPARATION:
(@) Disconnect[ihe[¢onnectorbetweenthedirbag[$ensorfas-
:l _ sembly[@nd[ihe[$piral(¢able.
Spiral g'rbag (b) Release[the[airbag[activation[prevention[inechanismpf
CD BI Cable :U D:D ] A:;]z::bly the[$piral[¢able[¢onnector[dn[the[airbagsensorf@ssembly
D[$quib - I side.[{See[page[DI-229)
CHECK:
For[ihe[¢onnector[{on[ihe[$piral[¢able[$ide)between[ihe[$piral
cable[and[ihe[$teering[Wheel[pad,[ineasurelihelitesistance[be-
tween[D+[@nd[D-.
OK:

Resistance: 1[MR[or[Higher

H01000
R14286 H01137

@

6] | Check[harness[between[airbag[$ensor[assembly[and[$piral[¢able.

NG[> Repair(or(teplace[$piral¢cable.

PREPARATION:
Release[the[lirbag[activation[prevention[nechanismpof the
connector[Jon[the[&irbag[$ensor[assembly[side) between[ihe

Spiral ]g‘rbag airbag sensor assembly and the spiral cable.
ensor
A [H e AL Assombly (See[page[PI-229)
DBquib CHECK:
@ —— For the connector (on the spiral cable side) between the airbag

sensor assembly and the spiral cable, measure the resistance
between D+ and D-.

OK:
Resistance: 1 MQ or Higher
B oot Hot138 NG Repair or replace harness or connector be-
tween airbag sensor assembly and spiral cable.

@

From the results of the above inspection, the malfunctioning part can now be considered normal.
To make sure of this, use the simulation method to check.
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